@
@% =|F
=28 MO :ll:l E
[ —} : I 1= c

@

Of

o

2+31+4x33=

1 1
——52%x2—-10%x=+5
2 2

58-3-3x5=

1 1
—+15X =+3+4x =
6 3

1
25—-53%x3+ - =
4

46—-49—-4x58=

Al —

1

2 1
——8x - +2+3x56=
5 6

ST—=12%x21+3-2x44=

www.snowmath.com



https://www.snowmath.com

(= =

=0

183
2+3.1+4x33= " =
10

3 47 1
18— 46-49-4%x58=(——)=(-23=
8- 6-49-4x58=(—7) = (-233)

1 1 109 9 1 )
L 5 x2—10X 245 = ()= (—10—) S148x-+242x =" —¢=
2 - 3 7o) = C103) 3 “2° 5 3
61 1 2 1 248 8
8 — — = (—— :—12_ - — _—2+ . = _ _:1__
58-3-3x5= ()= (129) - 3x56="2 = 16—

1 1
—+15%x —+3+4x
6 3

1
25-53x3+ == (-
7 (

N =

263
20

35 23 1

= _32 57— 12x21+3-2x44=(—=) = (11

c ¢ (2) ( 2)
3 3 51 11

— (132 41— -dxZ=2 9

)=C15) 2“5 20 20

www.snowmath.com



https://www.snowmath.com

